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Attempt all- three questions. Each question is divided among 5
parts (a), (b), (c), (d) and (e). Part (a) is compulsory and
attempt any three parts from (b), (¢), (d) and (e).
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{a)  (Compulsory) Choose the correct answer and give brief

reason(s) for your choice :
) [n an open economy ; 2

(A) national savings are always equal to domes-

tic investment

{(B)  national savings equals domestic investment

plus the current account balance

{C). national savings equals domestic investment

plus exports of the economy

(D) national savings equals domestic investment

plus statistical discrepancy.

(i) * The real interest rate is - 2
' 4

{A) interest rate given by a commercial bank

[

(B) nominal interest 'rate minus inflation rate
(C)  nominal interest -rate plus inflation rate
L]

(D)  none of the above
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What is inflation rate ? If GDP d_eﬂatof rises ft;)m 100
in year one to 107 in year two and 115 in year three, what
will be thé inflation rate between year one andrtwo and

between year two and three.

If the nominal interest, rate is 9% per annum during afl
these vedrs, what will be the real rate of interest between

year 1 and 2 and between year 2 and 3. 7

What do you mean by‘Balz-mce of Payments Accounts ?
What is the fundamental balance of payments identity ?

Explain with cxamples. 7

~ What do the unemployment rate and the inflation rate

4

- measure 7 Why do economists care about unemployment

and inflation © 7

If there were three goods !, 2 and 3 and p stands for
price. and g for output. then the prices and quantities

RTC.
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in the base year (vear 0) and curremt year {year 1) are

given as :

1 P, 1, P, q, I

Year0 | g =41 p,=11 qu=5 | p,=1] ¢,=2 | p,=4

Yearl [g,=6 | p,=4|q,=15| p, =3 ¢, =6 |p, =2

Find the nominal expenditure and the real éxpenditure.
Also find the inflation rate of the economy and the -
weighted averége of price increase, 7
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' (@} (Compuisory) Choose the corfect answer and give the

brief reason(s) far your choice -

() Quantity Theory of Money implics that : 2

{A)  The rate of growth in the quantity of money

determines the inflation rate

(B)  Money supply is controlled By the Central

‘Bank

(Cy . Money functions as. a store of value
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(if)  Hyperintlations typically begin wh'e'u.: 2
{A) Govermment finance large budget deficits by

external borrowings

(B) Government finance large budget deficits by .

internal borrowings

(C)  Government finance large budget deficits by

printing money
(D) All of the above

Explain the Central Bank influences the thonetary,
base and the inter-bank interest rate by open market
operations. 7
How is the rate of interest determined by the demand

and supply of money ? What happens to the interést;
rate if :

() Nominal income increases and

(i) Money supply increases. 7

3
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What is nominal interest rate ? If inflation rises from 4
to 7 p;er cent or the real int‘erest rate changes from 6 to
8 percent, then what will happen to the nominal interest

rate according to Fisher Effect ?
What is the social cost of expected inflation ” 7

How docs Hyperinflation affect the econom;v ? How do
the Hyperinflations end: do they die a natural death
or a stabilization program is required ? What are the

clements and costs of such program ? 7
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(Compulsory) Explain in brief whether the following

statements are True or False :

() For a given interest rate, an increase in taxes shifts

the IS curve to the right, . 2

(i7y-  The greater the propensity to consume, the ‘higher

the multiplier. 2

Explain the determination of equilibrium level of
L)
output, employment and the real wage in the classical

sy.ste m. - 7
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(¢)  InKeynesian model discuss the effects of ch_anges in fiscal
variables — iﬁcrease‘ir"a govt. purchases, reduction in the
Income tax rate and an increase in transf;er payments, qn

the equilibrium level of income. 7

(d) - Discuss with the help of 1S-L.M model, the effects of fiscal
contraction by increasing taxes while keeping government
spending unchanged, on output, on its.composition, and

on the interest rate, : 7
(¢)  Docs the slope of LM curve has any implication for the
effectiveness of monetary policy in terms of changes

in income ? What happens in two extreme cases of

+horizomal and vertical LM curves ? 7
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